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The Second Part: Projects Management {20 degree]

1. Consider the activity of excavation of a pipeline trench. Assume that the volume of work 1s
990 m° and the most efficient crew size is 10 men. The average output is 3 m°/ man/ day. The
normal wage (b2') is LE 10 /man /day. The foreman (Jaadl L’ ) wage is LE 15/ day.
Increasing the number of crews will result in some reduction in the working efficiency. The
reduction will be 10% for using 2 crews and 20% for using 3 crews. [6]

e It is required to determine the duration and corresponding cost for this activity,
considering cases of: single, double, triple crews. Assume that the maximum number of
crews to be supervised by the foreman is three

2 For the construction plan of a double span bridge given in the following table; prepare a
precedence diagram (A.o.N) for the list of activities, calculate activities times, determine the

critical path(s), and calculate the two floats of each activity. [14]
| No. Activities Predecessors Dgratmn
7 o - (weeks) |
20 | Excavate for foundations left - 2
| 30 | Excavate for foundations right - 2
u() Excavate for foundations center - 3
50 | Construct foundations left 20 2
60 | Construct foundations right 30 2
' 70 | Construct foundations center 40 3
' 80 | Construct abutments left 50 4
90 | Construct abutments right 60 4
100 | Construct center pier 70 6
110 | Place deck beams left 80, 100 1
120 | Place deck beams right 90, 100 1
140 | Fill embankment left 80 10
150 | Fill embankment right 90 10
155 | Construct R.C. deck slab 110,120 8
160 | Road base left 140 3
170 | Road base right 150 3
180 | Surface road 155, 160, 170 .
190 | Erect bridge railing 155 2
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